o=
1o

B0
T
6
I3 53
X = o)
I &)
X 4 il o1
= o a s
LH T LH WF_ X0 ~
Kb b o N Z <+ S
D N o - : S
X~ < o = ~
—_ o Q o P X SN
_._.__.n ol | E_._M ol EEE . __M.__ R <
— I_ D 1 -
._n.__.._ g 5D g i o- = g o
E N S N & G R0y o =
ujo o™ o 2 T - ™ 5l KO S
_%. M- o W = wm o = = ™ =
? § o 3= ° PN B4
I N . = o n T o 9
1 A 1o iy o T O
S T - o oy o9
oo 0 & 2 or U ok ulo o N
G+ 7 R0 s o kMo ol Y v
ol ol mm ol
LN

N3 3 ~ R N3 N8

o o o i e o N ol N

52 L 5o 5 & 5 &

m"_ Q ™M m"_ Q m"_ ™M w"_ Q

am © = e + R or S

S22 SMEE 33 FAEE, dot A 1Y

(3¥ 26%)

18:00~19:30
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13:00~15:00

T2YU(3E 282)

10:30~11:30

12:30~13:00

- WordCloud
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- Grammar note Al&d 27| Level 2 Unit 1.

- Insight Link L3 Reading Unit 1.

-Brainstorm

-Find out the words learners don’t know

-Summarize the paragraph
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